

المسألة 3: إذا كان $\log_m n = a$ فاحسب $\log_m m^n$

$$\log_m m^n = \log_m m + 1$$

$$\log_m m^n = \frac{1}{\log_m m} = \frac{1}{1 + \frac{1}{a}} = \frac{a}{a+1} \Rightarrow \log_m m^n = \frac{a+1}{a+1} = 1 \quad (1)$$

$$\Rightarrow 1 + \frac{a}{a+1} = b \Rightarrow \left[1 + \frac{a}{a+1}\right] = 1 + \left[\frac{a}{a+1}\right] = 1 = [b]$$

$\frac{a}{a+1}$

$$\log_x x \Rightarrow x > 0 \quad \frac{x}{\log_x x} > 0 \Rightarrow \log_x x > 0 \quad (2)$$

$x \in \mathbb{R}^+$



$\Rightarrow x \in (0, 1) \cap \mathbb{R}^+ \Rightarrow D = (0, 1)$

$$\log_r (x^r - x - r) \Rightarrow x^r - x - r > 0 \Rightarrow + \frac{1}{r} - \frac{1}{r} +$$

$\Rightarrow x \in \mathbb{R} - [-1, r] \quad (1)$

$$x^r - 1 > 0 \Rightarrow + \frac{1}{r} - \frac{1}{r} + \Rightarrow x \in \mathbb{R} - (-1, 1) \quad (2)$$

$$(1) \cap (2) = \mathbb{R} - [-1, r] = D$$

$$r \log_x a = \log_{\sqrt{x}} a \quad (3)$$

$$\log_{\sqrt{x}} a + \log_{\sqrt{x}} a = \log_{\sqrt{x}} a + \frac{1}{\log_{\sqrt{x}} a} = r \Rightarrow t + \frac{1}{t} = r$$

$$\Rightarrow t^r - rt + 1 = 0 \Rightarrow t = 1 \Rightarrow \log_{\sqrt{x}} a = 1 \Rightarrow a = \sqrt{x} \Rightarrow \sqrt{a} = a$$

$\Rightarrow a = 1$

$$\log 1 = -r \Rightarrow \log a = -r \quad (4)$$

$$\log \frac{a}{r} = \log a - \log r = -r - r = -2r$$

$$\log a = -r, \log 1 = \log a + \log r = -r$$

$$\Rightarrow -r x^r + r x - 1 = 0 \Rightarrow r x^r + r x - 1 = 0$$

$$|x - 1| = \frac{\sqrt{a}}{1} = \frac{\sqrt{1}}{r}$$

$$\log_v^v = v, \Delta$$

$$\log_v^v = v, \Delta$$

$$\frac{\log_v^v}{\log_v^v} = \left[\frac{1}{f} = \log_v^v \right]$$

$$\log_v^v + \log_v^v = \frac{1}{\log_v^v + \log_v^v} + \frac{1}{\log_v^v + \log_v^v} = \frac{1}{v, \Delta + 1} + \frac{1}{v, \Delta + 1}$$

$$\frac{1}{v, \Delta} + \frac{1}{1, \Delta} = \frac{\Delta v, \Delta}{v, \Delta}$$

$$\log_v^v = \frac{\log_v^v}{\log_v^v} = \frac{1, \Delta}{1, \Delta} = \frac{1}{1, \Delta} = \frac{1}{v, \Delta}$$

(4)

$$\log_v^v + \log_v^v = \frac{1}{\log_v^v} + \frac{1}{\log_v^v} = \frac{1}{\log_v^v + \log_v^v} + \frac{1}{\log_v^v + \log_v^v}$$

$$= \frac{1}{1 + 1, \Delta} + \frac{1}{\frac{1}{v, \Delta} + 1, \Delta} = \frac{1}{v, \Delta} + \frac{1}{f} = \frac{4, \Delta}{1, \Delta}$$

$$\log_v^v + 1 = m \Rightarrow \frac{v}{f} (\log_v^v = m - 1) \Rightarrow \log_v^v = \frac{v}{f} (m - 1)$$

(V)

$$\log_v^v + \log_v^v = 1 + \frac{\log_v^v}{v} = 1 + \frac{v}{f} (m - 1) = \frac{v m + 1}{f}$$

$$\frac{v}{f} x^{m-1} = \left(\frac{\partial}{\partial x} \right)^m x^m \Rightarrow v x^m = -v x + 1$$

(1)

$$v x^m + v x - 1 = 0 \quad \frac{-v \pm \sqrt{v^2 - 4v}}{2v} = \frac{1}{v} \Rightarrow \log_v^v = \log_v^v = \log_v^v$$

$$\frac{v}{f}$$

$$1 + a = 1 + \log_v^v = \log_v^v + \log_v^v = \log_v^v$$

(9)

$$\frac{v}{f} \log_v^v = \log_v^v = \log_v^v \Rightarrow \boxed{b = v, \Delta} \Rightarrow \log_v^v (1, \Delta - 1) = \log_v^v = \log_v^v$$

(1)

$$\log_v^v = \frac{-b}{v, \Delta} \Rightarrow \frac{b}{v, \Delta} = \frac{1}{\log_v^v} \Rightarrow \frac{b}{v, \Delta} = \log_v^v$$

$$\frac{b + c}{v} = a \Rightarrow b + c = v a \Rightarrow b = c - v a \Rightarrow \frac{b}{c} = 1 - \frac{v a}{c}$$

$$\frac{-v a}{c} = \log_v^v \Rightarrow \frac{a}{c} = \log_v^v \Rightarrow \frac{c}{a} = \log_v^v$$

$$\Rightarrow \frac{c}{a} = \frac{1}{\Delta} \times (\log_v^v - v) \Rightarrow \left(\left(\frac{1}{\Delta} \right)^{\frac{1}{\Delta}} \right)^{\log_v^v - v} = \frac{\Delta^{-\frac{1}{v, \Delta}}}{\Delta^{-\frac{1}{v, \Delta}}} = \frac{1}{\Delta^{-\frac{1}{v, \Delta}}}$$

$$\frac{1}{\Delta^{-\frac{1}{v, \Delta}}} = \frac{1}{\Delta^{-\frac{1}{v, \Delta}}}$$